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Grade VII

Sample Entry Test: English

The Battle of Panipat 1526
Paragraph 1

After having subdued Lahore once more, Babur and his army marched on the capital, Delhi, n
order to subjugate Sultan Ibrahim Lodhi once and for all. On reaching the village of Panipat, in
the plain north of Delhi, Babur organized his forces. He quickly noticed his inferiority in
numbers; he had, probably, only about 15000 men, of whom only about half were fit for attack.
On the other hand, Babur was a skilful strategist and he had learned valuable tactical lessons in
the course of his numerous battles with the Uzbeks.

Paragraph 2

Moreover, he had at his side two talented Turkish gunners who had mastered the art of using
cannons i warfare. The cannon, a mounted gun, was a weapon well known in Europe, but noton
the subcontinent at this time when an army's strength was in its archers, Babur was very
interested in firearms and artillery and used to supervise their casting, He gave the order for all
the carts — seven hundred of them — to be tied together with raw hide ropes to form a large
defensive formation. The matchlock-men and the cannons, protected by mantelet shields, took up
positions between the carts. Behind them were the cavalry and the archers.

Paragraph 3

Ibrahim Lodhi, however, hesitated to fight despite his 100 000 men and his many hundreds of
elephants. In order to incite his enemy to attack, Babur sent his soldiers by night to harass
Ibrahim Lodhi's forces. On the morning of 21 April 1526, the exasperated Ibrahim finally started
the assault. He forced Babur's right wing back, but his own army was swiftly overwhelmed by
the cannon fire and by the matchlock-men drawn up in the centre. Terrorized by the noise of the
gunfire, the elephants stampeded, making any further attack impossible. Ibrahim's forces were
quickly encircled and destroyed by Babur's cavalrymen and archers.

Paragraph 4

By midday, his camp was destroyed, although his body was not found until later. It was
decapitated and the head was brought to Babur. Asa mark of respect to the dead sultan, Babur
later had a monument erected on the spot where he fell. Very quickly after the battle, Babur
became preoccupied with protecting the treasures of Delhi and Agra from pillage by his own
victorious troops. He sent Humayun, his son who was only seventeen years old, to Agra, whilst
he himself marched on Delhi, where he had prayers read in his name in the great mosque,
thereby proclaiming himself Padishah, or Emperor, of Hindustan.




Paragraph 5

At Agra, Babur was greeted by Humayun, who presented the conqueror with a magnificent
diamond called the Koh-i-noor. The ruling family of Gwalior had given it to Humayun and
Babur recorded that a gem collector estimated its worth as 'the whole world's expenditure for half
a day'. Babur immediately refused this rich gift,and offered it to the one who wanted to give it to
him, Humayun.

. What was Babur's purpose in marching on Delhi? (paragraph 1)

. Explain one advantage and one disadvantage which Babur had over Ibrahim Lodhi before
the Battle of Panipat. (paragraph 1)

. Why did Ibrahim Lodhi find it impossible to make an attack with his elephants? (paragraph
3)

. What did Babur want to prevent happening in Agra and Delhi? (paragraph 4)

. How does the writer emphasize the value of the Koh-i-noor? (paragraph S)

. Which word in paragraph 3 tells you that it took a long time tomake Ibrahim Lodhi attack?

. Why did Babur send his son, Humayun, to Agra? (paragraph 4)

. What qualities of leadership do you thmk Babur displayed during and after the Battle of
Panipat?




Grade VII
Sample Entry Test: Maths

Total time: 30 minutes

All questions to be answered on the answer sheet

1. Find /216 using prime factorization.

. Find the LCM of 24, 90.

. Evaluate the following.
a) (12—-18)2-(- 3)x(7—5)?

. Express 4.0090185 correct to 3 significant figures.

. Simplify the following expression.
a) 3(y—2)—12+5(3-y)
. Giventhat a =3 and b = — 4, evaluate the following.

a) Sab
b) 2a® -b

. Solve the following equation.
a) 5Q2y+3)=35

. Find the value of'y in the following.

a) yzzxg—_l, given x =5

. For the following sequences, state a rule and write down the next two terms.




a) -2,0,4,10,18,

10. The base of a parallelogram is 5m and its area is 100m?. Find the height of the
parallelogram.

11. In the figure, a semicircle is attached to a triangle. The diameter of the semicircle is 28
cm and height of the triangle 1s 30cm. Calculate the area of the figure. Take m = % [3]

12. The bar graph shows the sales of laptops m the four weeks of July and August.

July and August Sales

Number of sales

Week 3

Study the bar graph.




a) Find the total sales i the month of July. [2]
b) Express as a ratio the sales in Week 2 of July to the sales in Week 2 of August.  [1]

13. Ahmed is twice as old as Bobby. John is 7 years younger than Ahmad. If the sum of their
ages 1s 38, how old are the three boys. [2]




Grade VII
Sample Entry Test: Urdu
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